

rovided by Repositorio Institucional de la Biblioteca del Banco de España

2014

THE IMPACT OF FINANCIAL (DE)REGULATION ON CURRENT ACCOUNT BALANCES

Enrique Moral-Benito and Oliver Roehn

Documentos de Trabajo N.º 1424

BANCODE ESPAÑA

Eurosistema

THE IMPACT OF FINANCIAL (DE)REGULATION ON CURRENT ACCOUNT BALANCES

THE IMPACT OF FINANCIAL (DE)REGULATION ON CURRENT ACCOUNT BALANCES ⁽¹⁾

Enrique Moral-Benito

BANCO DE ESPAÑA

Oliver Roehn

OECD AND CESIFO

(*) We would like to thank Teresa Sastre, Francesca Viani and an anonymous referee for providing valuable comments. The views expressed in this paper are those of the authors and, therefore, do not necessarily reflect those of the Banco de España or the OECD and its member countries.

Documentos de Trabajo. N.º 1424 2014

The Working Paper Series seeks to disseminate original research in economics and finance. All papers have been anonymously refereed. By publishing these papers, the Banco de España aims to contribute to economic analysis and, in particular, to knowledge of the Spanish economy and its international environment.

The opinions and analyses in the Working Paper Series are the responsibility of the authors and, therefore, do not necessarily coincide with those of the Banco de España or the Eurosystem.

The Banco de España disseminates its main reports and most of its publications via the Internet at the following website: http://www.bde.es.

Reproduction for educational and non-commercial purposes is permitted provided that the source is acknowledged.

© BANCO DE ESPAÑA, Madrid, 2014

ISSN: 1579-8666 (on line)

Abstract

Global imbalances and financial market (de)regulation both feature prominently among the potential causes of the global financial crisis, but they have been generally discussed separately. In this paper, we take a different angle and investigate the relationship between financial market regulation and current account balances, an area for which there is limited empirical evidence. We use a panel of countries over the period 1980-2010 and employ a novel empirical approach which allows us to simultaneously account for model uncertainty, current account persistence and unobserved heterogeneity. We find robust evidence that financial market regulations affect current account balances and that different aspects of these regulations can have opposing effects on the current account. In particular we find that lowering bank entry barriers is negatively associated with the current account balance. In contrast, bank privatisation and securities market deregulation tend to raise current account balances. Our results also highlight the need to control for persistence and unobserved heterogeneity. Once we control for these factors, we find robust evidence for a wide range of current account theories in contrast to previous studies.

Keywords: current account, financial markets, financial regulation, Bayesian model averaging, model uncertainty.

JEL classification: C11, F32, F41, G28.

Resumen

Tanto los desequilibrios mundiales como la (des)regulación de los mercados financieros destacan como posibles causas de la crisis financiera mundial. En este documento se investiga la posible relación entre ambos fenómenos; concretamente, analizamos la relación entra la (des)regulación de los mercados financieros y los saldos por cuenta corriente, un área para la que la evidencia empírica disponible es escasa. A tal fin, explotamos datos para un panel de países en el período 1980-2010 y empleamos un novedoso enfoque empírico que permite atajar simultáneamente la incertidumbre del modelo, la persistencia en los saldos por cuenta corriente y la heterogeneidad no observada a nivel de país. Encontramos evidencias empíricas concluyentes de que las (des)regulaciones de los mercados financieros afectan a los saldos por cuenta corriente y que los diferentes aspectos de estas regulaciones pueden tener efectos opuestos sobre la cuenta corriente. En particular, observamos que reducir las barreras de entrada en el mercado bancario se asocia negativamente con la balanza por cuenta corriente. Por el contrario, la privatización bancaria y la desregulación del mercado de valores tienden a elevar los saldos por cuenta corriente. Nuestros resultados también ponen de relieve la importancia de tener en cuenta la persistencia y la heterogeneidad no observada a nivel de país. Una vez ambos factores son tenidos en cuenta, hallamos evidencias sólidas para una amplia gama de factores que están asociados con la evolución de la cuenta corriente, en contraste con estudios anteriores.

Palabras clave: saldo por cuenta corriente, mercados financieros, regulación financiera, promediado Bayesiano de modelos, incertidumbre de modelo.

Códigos JEL: C11, F32, F41, G28.

1 Introduction

The role of current account imbalances in the global financial crisis and more recently in the euro area sovereign debt crisis is widely debated (Obstfeld, 2012; Chinn, 2013; Campa and Gavilan, 2011; Chen et al., 2012). Some authors go as far as seeing global imbalances prior to the crisis as the main cause of the crisis (e.g. Portes, 2009; King, 2009), while others take a more nuanced view and suggest that the root causes of the global current account imbalances and the financial crisis coincide (Obstfeld and Rogoff, 2010).¹ One such potential root cause is financial deregulation. Several authors have pointed to a link between financial deregulation and the crisis (e.g. Stiglitz, 2010; Keys et al. 2010), but the relationship between financial deregulation and current account imbalances has received little attention to date. Our main contribution in this paper is to take a step towards filling this gap by providing a thorough empirical analysis. A better understanding can help inform the current discussions both on the design of more robust regulatory frameworks of domestic and international financial markets and on how to better monitor and prevent global or regional imbalances.^{2,3}

Theoretically, the relationship between financial (de-)regulation and the current account is ambiguous. On the one hand, traditionally financial deregulation has been viewed to deepen financial markets, reduce transaction costs and facilitate risk management. This may encourage saving (e.g. Edwards, 1996; McKinnon, 1973; Shaw, 1973), and hence tends to raise the current account balance. On the other hand, financial deregulation may relax liquidity constraints, which could reduce the need for precautionary saving (Mendoza et al., 2009) and could fuel credit driven consumption and investment growth, and hence reduce the current account balance (Ferrero, 2012; Borio and Disyatat, 2011). Which of these two effects dominates is therefore largely an empirical question.

Our results suggest that the dominating effect may depend on the particular area of deregulation. In particular, we find that the removal of bank entry barriers is negatively associated with the current account, consistent with the liquidity constraints view of financial deregulation. In contrast, we find that deregulating securities markets and privatizing banks tends to raise the current account

¹Current account imbalances are not necessarily "bad" as they can reflect the optimal allocation of capital across time and space. However, they can also be symptoms of underlying domestic distortions, such as deficient financial market regulation, and spillover effects can suggest a role for multilateral surveillance. Spillover effects can arise from (i) cross-border effects of a sudden stop in deficit countries; (ii) worries about unfair competitive advantages due to undervaluations in surplus countries; and (iii) global demand effects if part of the world is in a liquidity trap (Blanchard and Milesi-Ferretti, 2012).

²Examples of efforts to better monitor imbalances are the recent establishment of the G-20 Mutual Assessment Process (MAP) and the EU's Macroeconomic Imbalance Procedure (MIP).

³While global imbalances have narrowed after the crisis, a substantial part of the reduction is likely due to cyclical factors, as demand has contracted more in deficit countries than in surplus countries. Once cyclical conditions normalise global imbalances are likely to widen again (e.g. OECD, 2013).

balance. Hence, these aspects of deregulation appear to be more related to the saving enhancing view of financial deregulation, for example through a greater supply of and more sophisticated saving products. Our results therefore highlight the need to take a more nuanced view on financial deregulation, as different aspects can affect the current account in opposite ways.

Our study complements and extends that of Lanau and Wieladek (2012)- to our knowledge the only other study to have empirically investigated the link between financial (de-)regulation and the current account.⁴ They set up an intertemporal model in which financial (de-)regulation influences the current account response to a net output shock through the liquidity constraints channel. They empirically test their theory with a VAR model using an aggregated measure of financial regulation. They find that deregulation increases the size and persistence of the current account response to a net output shock. Our findings offer a more nuanced interpretation of their results: the ease of bank entry may be driving force behind their discovered effect as this aspect of regulation appears to be most closely related to the liquidity constraints channel. In addition, we extend Lanau and Wieladek (2012) by using a novel estimation technique, which allows us to show that financial (de-)regulation is a robust determinant of the current account even after controlling for a wide range of competing theories.

In particular, our empirical approach builds on and contributes to the large literature which estimates reduced form equations and includes a large pool of potential current account determinants suggested by the theoretical and empirical literature (for early influential contribution see Debelle and Faruquee, 1996; Calderón et al., 2002; Chinn and Prasad, 2003). Ca' Zorzi et al. (2012a,b) have recently criticized this standard empirical approach for ignoring the issue of model uncertainty given the large number of potential current account determinants and hence empirical models. They show that different economic and statistical criteria would yield different models and no 'true' model appears to exist which can easily be labeled as superior to all others. They further demonstrate that model uncertainty is generally too large to draw any firm conclusions even about the sign of the coefficients. In order to address these challenges, Ca' Zorzi et al. (2012a) use Bayesian Model Averaging (BMA) techniques to account for model and parameter uncertainty. BMA allows examining a large number of potential models, weighting each one according to a fitness criterion, and providing a probability distribution for each coefficient estimate.

In this paper, we also use BMA techniques but extend the approach in Ca' Zorzi et al. (2012a) by considering a dynamic panel data setting and allowing for unobserved country-specific heterogeneity correlated with the regressors (e.g. Moral-Benito, 2012). By considering a dynamic panel we allow for persistence in current account estimations, which is supported both from a theoretical standpoint,

 $^{^{4}}$ While not their main focus, Ca' Zorzi et al.(2012a) and Kerdrain et al. (2010) also include an index of financial regulation in several of their specifications, but do not find a significant effect.

e.g. through habit formation in the consumption/saving behaviour (Bussiere et al., 2004; Gruber, 2004), as well as empirically (e.g. Bussiere et al., 2004; Calderón et al., 2002; Morsy, 2009; Arezki and Hasanov, 2009; and Beidas-Strom and Cashin, 2011). Our findings suggest that extending Ca' Zorzi et al. (2012a) in this way has important implications.

First, we find decisive evidence of persistence with the lagged dependent variable being one of the most robustly related current account determinants even at lower frequency data (5- and 10 years). Second, once we allow for dynamics and unobserved heterogeneity, we find robust evidence for a wide range of current account theories apart from financial regulation. For example, we find strong evidence of a positive effect from fiscal balances on current accounts as well as proxies for demographics, stages of development, natural resource abundance and institutional quality. This contrasts with the findings in Ca' Zorzi et al. (2012a), who find that the net foreign asset position and the oil balance are the most robust current account determinants and the only ones significantly different from zero.

The remainder of the paper is organized as follows. In section 2, we discuss the potential determinants of current account with special emphasis on financial regulation. Section 3 outlines the econometric methodology that combines BMA with a correlated-random-effects panel estimator. Section 4 presents and discusses the results. Finally, section 5 concludes.

2 Potential determinants of current account balances

2.1 Financial regulation and development

Financial (de-)regulation can affect the current account through the impact on saving and investment decisions.

The impact of financial (de-)regulation on investment is rather uncontroversial: by enhancing financial market development, financial deregulation is associated with higher investment (e.g. Levine, 2005). For example, Caballero et al. (2008) argue that underdeveloped financial markets led to a shortage of financial assets and hence investment opportunities in East Asia. This increased the demand for financial assets in the United States leading to capital outflows and current account surpluses in Asia. Similarly, inefficient financial intermediaries could drive a wedge between financial and capital returns to investment due to monitoring or transaction costs and lead to capital flowing from capital scarce to capital abundant countries (Boyd and Smith, 1992; Ju and Wei, 2010).

The effect of financial (de-)regulation on saving is theoretically ambiguous. The early literature has stressed the role of higher real interest rates following financial liberalization to mobilize savings (McKinnon, 1973; Shaw, 1973). Apart from interest rate effects, financial deregulation could more broadly improve saving opportunities by reducing transaction costs, facilitating risk management, improving risk-return trade-offs and offering a wider range of saving instruments. Edwards (1996)

provides empirical support for a positive effect on savings. However, financial deregulation also involves easing liquidity constraints of households and (small) firms. This could reduce the need for precautionary saving (Mendoza et al., 2009) and increase consumption of previously liquidity constraint private agents (Bayoumi, 1993; Jappelli and Pagano, 1994; Bandiera et al., 2000). Given the ambiguous effect of financial regulation on saving, its impact on the current account is also ambiguous.

The literature linking financial regulation to the current account is still thin. Ferrero (2012) and Borio and Disyatat (2011) argue that financial deregulation prior to the crisis eased borrowing constraints which contributed to credit and asset price booms and the build-up of global imbalances. Along these lines, Lanau and Wieladek (2012) set up an intertemporal current account model in which financial regulation influences the share of liquidity constraint agents. They empirically test their theory with a VAR model and find that deregulation increases the size and persistence of the current account response to a net output shock. Ca' Zorzi et al. (2012a) and Kerdrain et al. (2010) include an index of financial regulation among a wide range of other current account determinants but do not find a significant correlation.

The empirical studies above use an aggregate index of financial reform based on Abiad et al. (2010). We also employ this index but instead focus on the disaggregated components to allow for a more nuanced analysis. In particular, we use the following items: i) credit controls and excessively high reserve requirements; ii) bank entry barriers; iii) privatisation of the banking sector; iv) prudential regulations and supervision of the banking sector and v) securities market regulation. Our empirical results below show that this more nuanced analysis provides important new insights as different aspects of financial regulation can have opposing effects on the current account.

In contrast to financial regulation, the broader concept of financial development has received wider attention as an explanation for the build-up of global imbalances prior to the crisis. In particular, the "saving glut" hypothesis (Bernanke, 2005; Clarida 2005a,b) states that underdeveloped financial markets, especially in China and other emerging Asian economies', have contributed to excess savings, for example due to precautionary savings or a lack of investment opportunities. These excess savings flew to the highly developed US financial market. According to this view, greater financial development may contribute to receding global imbalances. Empirically, the saving glut hypothesis implies hence a negative correlation between measures of financial development and the current account.

Evidence supporting the saving glut hypothesis is at best mixed. Chinn and Ito (2007, 2008a) find that financial development, proxied with the private credit-to-GDP-ratio, leads to higher savings for countries with underdeveloped institutions and closed financial markets including key East Asian countries contrary to the saving glut hypothesis. Only in countries with highly developed legal

systems and open financial markets are financial development and current accounts negatively correlated. Gruber and Kamin (2007) do not find a significant correlation between financial development and the current account. Using a wider range of indicators to investigate different aspects of financial development, Gruber and Kamin (2009) find a significant negative correlation between the growth of stock market capitalization and the current account in their full sample. When they restrict their sample to industrialized countries they find weak evidence that the private credit-to-GDP-ratio is negatively correlated with the current account but the level of stock market capitalization and stock market turnover are positively correlated with the current account. Ito and Chinn (2009) find that measures of the size of financial markets (private credit and stock market capitalization) have a negative effect on the current account in industrialized countries, but the opposite is more often the case in developing countries. The latter result is strengthened when other measures of financial market development, such as a proxy for competitiveness, are included.

We contribute to this literature by focussing on financial (de-)regulation, which is an important driver of financial development. In addition, we believe that this approach has at least two advantages. First, standard indicators of financial development, such as credit to the private sector, are likely to be endogenous to saving and investment decisions and hence the current account. Regulatory settings are less likely to suffer from endogeneity, though not fully independent of wider economic conditions. Second, as regulations are under the control of policy makers, our results bear direct policy implications. In our empirical analysis we nevertheless also include measures of financial development to control for aspects of financial market development that are unrelated to regulatory settings (see Table A1).

2.2 Other factors

Besides financial markets characteristics a large range of determinants have been suggested in the literature explaining equilibrium movements of the current account. In the following, we only briefly revisit some theoretical considerations underlying these factors. A more comprehensive discussion of the theories can be found for example in Chinn and Prasad (2003). Table A1 summarizes the specific variables included in our empirical analysis.

Initial net foreign asset position. A higher initial net asset position is associated with positive investment income flows which improve the current account. On the other hand a highly indebted country may have to eventually improve its current account position to preserve solvency. Hence the theoretically expected sign is ambiguous. However, the vast majority of empirical studies find a positive link.

Demographic factors influence mainly the saving behaviour of an economy. The life-cycle hypothesis for instance suggests that savings are accumulated during the working age while younger and older age cohorts generally dissave. Thus a country with a high old and/or young age dependency ratio should generally be expected to save relatively less.

Oil dependency. Higher oil prices improve the current account balance of oil exporters while they reduce the balance of oil importers. The oil trade balance is generally included in regressions to allow the effect of oil prices to differ across countries and the sign is expected to be positive.

Fiscal policy. In the absence of full Ricardian equivalence, i.e. when changes in private and public saving do not fully offset each other, higher budget deficits reduce overall domestic saving and thus the current account balance.

Stages of economic development. Countries with low income are expected to run current account deficits due to their low saving and high investment growth during the convergence process to higher income per capita levels. Thus the relationship between relative income and the current account should be positive. To allow for non-linearities in this relationship, a squared term is frequently included in the regressions with a theoretically ambiguous sign. In addition, GDP growth is included. The effect of GDP growth on saving is ambiguous and depends inter alia on whether the associated increase in income is perceived as temporary or permanent and the degree of consumption smoothing of economic agents. Higher growth rates resulting from productivity gains may also raise expected asset returns leading to higher investment. Most empirical studies find a negative link between GDP growth and the current account.

Trade. Trade openness is commonly used in the literature as a proxy for barriers to trade and may be correlated with other attributes that make a country attractive to foreign capital. The majority of empirical studies find a positive link. In addition, changes in terms of trade may affect saving if the shock is perceived to be transitory. In this case consumption-smoothing households would adjust their saving in response to the transitory change in real income.

Institutional and regulatory quality. Improving the quality of the legal and regulatory system should in general attract investment and thus lead to a reduction in the current account balance.⁵ We also include a measure of labour market regulations with theoretically ambiguous effects on savings and investment and hence the current account (Kerdrain et al., 2010).⁶

⁵Weak institutions may lower risk-adjusted returns to capital in developing countries and has been evoked as one explanation for capital flowing "uphill" (Alfaro et al., 2008).

⁶As more stringent job protection reduces the probability of job loss, but also lengthens the expected unemployment spell after dismissal, the impact on precautionary savings is ambiguous. Stricter employment protection may raise total operating cost and hence discourage investment but could also induce firms to substitute capital for labour.

Dummy variables. An Asian crisis dummy is frequently included to reflect that Asian countries may have permanently increased their saving rate to insure themselves against future external shocks since the financial crisis in 1997/98. Furthermore, a financial center dummy is included as economies that serve as hubs for international financial flows have tended to run substantial current account surpluses and net creditor positions.

3 Empirical Approach

3.1 Data

We consider a balanced dataset including 31 countries over the time period 1980-2010. An important limitation of our approach is that the large number of variables investigated and the requirement of a balanced panel substantially reduces the number of countries included. To investigate if this smaller sample influences the results, we begin our empirical estimation by replicating the baseline results in Ca' Zorzi et al. (2012a), who use a similar methodology but employ a substantially larger and unbalanced panel of 77 countries. Since the results remain basically unaltered, we think that our sample selection is not a major cause of concern.

In line with the literature, most variables are expressed as deviations from a weighted average of foreign trading partners, since the current account balance of one country is not only affected by domestic determinants but also by developments in the rest of the world. Further in line with previous approaches, we use 10-year non-overlapping averages of the annual observations in the baseline to filter out cyclical movements and focus on medium-term developments. Given our sample, the use of 10-year periods guarantees the availability of 3 time-series observations per country. In the robustness section we also allow for different temporal aggregation windows.

Table A1 presents a list of the variables considered together with their sources and a brief description of each one (see also section 2).

3.2 Econometric methodology

The general dynamic current account model typically considered in the literature is given by (e.g. Ca' Zorzi et al., 2012a):⁷

$$CA_{it} = \alpha CA_{it-1} + x'_{it}\beta + \eta_i + \epsilon_{it} \tag{1}$$

⁷We assume that the first lag of the dependent variable is enough to capture the current account dynamics, given that we consider data at 5- and 10-year intervals.

where subscripts *i* and *t* denote country and time, CA_{it} refers to the current account balance as a share of GDP, and x_{it} is a $k \times 1$ vector of current account determinants.⁸ Most explanatory variables in the *x* vector are in deviations from weighted averages of foreign trading partners, which accounts for time-specific shocks from the rest of the world affecting current account developments. η_i captures time-invariant unobserved heterogeneity at the country level potentially correlated with the *x* regressors, and ϵ_{it} represents the serially uncorrelated transitory component of the error term. Finally, α and β refer to a scalar and a $k \times 1$ vector of unknown coefficients respectively.

Model uncertainty hampers consensus on the current account determinants to be included in the x vector. This situation resembles the growth regressions literature (e.g. Fernandez et al., 2001; Salai-Martin et al., 2004) in which the 'openendedness' of alternative theories compatible with each other results in many alternative models to be considered by applied researchers. Given the popularity of Bayesian model averaging (BMA) methods to overcome this challenge, Ca' Zorzi et al. (2012a) consider the BMA methodology in the setting of current account determinants. However, Ca' Zorzi et al. (2012a) consider a simplified version of equation (1) in which neither dynamics nor unobserved heterogeneity are included in the empirical model (i.e. $\eta_i = 0 \quad \forall i \text{ and } \alpha = 0$). In this paper, we extend the Ca' Zorzi et al. (2012a) approach by combining the BMA methodology with a suitable panel estimator that accomodates both persistence and unobserved heterogeneity; therefore we are able to simultaneously address model uncertainty and exploit the panel dimension of our data.⁹ We discuss these issues in more detail below.

3.3 Model uncertainty

In general, model uncertainty acknowledges that competing economic theories or models exist to explain the same phenomenon without consensus about the 'true' model. Ca' Zorzi et al. (2012a) analyse the issue of model uncertainty for the case of current account estimations in a panel data context and show that even adopting a transparent approach, different economic and statistical criteria would yield different models. They conclude that there appears to be no 'true' model, i.e. a particular choice of variables to include in x, which can be easily be labelled as superior to all others.

Ignoring such model uncertainty can result in biased parameter estimates, overconfident (too narrow) standard errors and misleading inference and predictions (Draper, 1995). Taking model uncertainty seriously implies a departure from conditioning on a particular model and instead calculating quantities of interest by averaging across different models. BMA allows examining a large

⁸Given our estimation approach, regressors without time variation can also be embedded in the x vector (see Appendix A.1 for more details).

⁹In addition, we extend the Ca' Zorzi et al. (2012a) approach by considering a larger set of potential current account determinants (i.e. larger k).

number of models, weighting each model according to a fitness criterion, and providing a probability distribution for each coefficient estimate.

BMA has been applied extensively in the economic growth literature to deal with model uncertainty (e.g. Fernandez et al., 2001; Sala-i-Martin et al., 2004) and was recently advocated by Ca' Zorzi et al. (2012a) in the context of reduced-form current account estimations. However, the empirical models considered by Ca' Zorzi et al. (2012a) are based on a static version of (1) without country-specific unobserved heterogeneity. In contrast, in this paper we follow the panel data variant of BMA outlined in Moral-Benito (2012) which allows combining the dynamic panel specification in equation (1) with BMA.

BMA is soundly based on statistical theory with all results directly following from elementary probability theory, notably the definition of conditional probability, Bayes' theorem and the law of total probability. Intuitively, BMA asks the researcher to specify candidate regressors that are clearly linked to distinct theories. BMA then allows for any sub-set of regressors to appear in a given model. Given the data, BMA first estimates a posterior distribution of each regressor coefficient for every model that includes the regressor. It then combines all posterior distributions into a weighted average posterior distribution, with weights given by the posterior model probabilities — see Appendix A.2 for more details on BMA.

3.4 Dynamics and unobserved heterogeneity

In order to filter out cyclical movements we construct *m*-year non-overlapping averages of the annual series. In the spirit of the growth regressions literature we choose $m = \{5, 10\}$ as reasonable values. Based on this data aggregation procedure, Ca' Zorzi et al. (2012a) focus on the static version of equation (1) within the BMA setting; by doing so the authors implicitly assume that current account dynamics are absent beyond the *m*-year frequency. In contrast, we consider persistence in current accounts beyond 5- or 10-year periods and find that the coefficient on the lagged dependent variable is statistically significant according to the Bayesian robustness check used in this paper.

Moreover, several papers in the literature argue against the use of country-specific effects (η_i) on the grounds that it ignores the between-country variation, which represents most of the variation in current accounts and their determinants (e.g Chinn and Prasad, 2003; Ca' Zorzi et al., 2012a). While this is true if one considered the standard fixed-effects OLS estimator, the correlated-random-effects estimator employed here exploits both within- and between-country variation, and it also allows including country-specific effects. Indeed, the use of between-country variation by this estimator also allows investigating the effect on current accounts of structural variables with little (or no) variation over time in a panel setting with country-specific effects. In Appendix A.1 we provide more details on this estimator. Having these considerations in mind, we employ a correlated-random-effects estimator based on a likelihood-based approach to estimate the model in (1). Therefore, we allow for persistence in current account dynamics beyond the *m*-year window, and we can also accommodate unobserved country-specific heterogeneity in current account developments exploiting both within- and between-country variation. Ignoring persistence and/or unobserved heterogeneity would result in biased estimates of the effects of interest. Moreover, the availability of such a likelihood function allows us to combine the aforementioned estimator with BMA to address uncertainty in the selection of the variables to include in the *x* vector.¹⁰

As a final remark, we acknowledge an important limitation of the dynamic panel estimator considered in this paper. While it allows us to accommodate regressors' endogeneity with respect to the permanent component of the error term (i.e. the country-specific effects), it is based on the assumption that the right-hand-side variables are exogenous with respect to transitory shocks; hence, feedback from current account developments to the regressors is not allowed. For instance, persistent current account deficits driven by a booming economy might exert pressures on regulators to relax regulations; given our identification strategy, we implicitly rule out this possibility. Despite its relevance, this issue is typically neglected in the literature mainly due to the lack of readily available instrumental variables (Chinn and Prasad, 2003). The reason is that it is difficult to find a set of variables related to the current account determinants but not directly related to the current account. Moreover, lagged levels of the regressors are only weak instruments for their first differences given the persistence of most aggregate variables. Therefore, we see the issue of reverse causality in this setting as a challenging topic for future research.¹¹

4 Empirical findings

4.1 Reduced set of regressors

As our empirical approach builds on Ca' Zorzi et al. (2012a), we begin our empirical investigation by analysing whether the smaller number of countries in our dataset compared to theirs substantially drives our results. In particular, following Ca' Zorzi et al. (2012a), we estimate the static versions of equation 1 using the BMA methodology with the same set of 14 regressors without accounting for country-specific effects (see Table 1).

¹⁰We are aware that the inclusion of the lagged current account as well as country-specific effects in the empirical model might be a controversial issue when estimating current account benchmarks or "norms" (see e.g. Lee et al., 2008; IMF, 2013). However, our focus here is on estimating the effects of the determinants of current accounts which may be biased if we ignored persistence and/or unobserved heterogeneity.

¹¹Moreover, given our use of 5- and 10-year intervals, the small time series dimension of our panel precludes us from estimating country-specific coefficients, which also represents a limitation.

Theory	Variable	PIP	Posterior Mean	Posterior Std.	P. Mean / P. Std.
	Initial NFA	0.984	0.036	0.010	3.636
Oil dependency	Oil balance	0.976	0.296	0.090	3.299
Trade integration	Openness	0.189	0.012	0.011	1.121
Fiscal policy	Fiscal balance	0.801	0.326	0.123	2.644
Economic development	Relative income	0.161	0.005	0.008	0.603
	Relative income squared	0.148	0.000	0.000	0.000
	Economic growth	0.260	0.348	0.244	1.425
	Investment	0.148	-0.103	0.125	-0.828
Demographics	Population growth	0.511	-2.234	1.233	-1.812
	Dependency ratio (old)	0.234	-0.169	0.144	-1.167
	Dependency ratio (young)	0.214	0.072	0.072	0.997
Instituional quality	Civil liberties	0.153	0.359	0.438	0.819
Dummies	Asian crisis dummy	0.449	2.888	1.467	1.968
Financial development.	Financial integration	0.120	-0.001	0.003	-0.440

Table 1: BMA results under static specification without unobserved heterogeneity

Note: This table presents the results of applying the BMA pooled and static approach as in Ca'Zorzi et al. (2012) to the reduced set of regressors with m = 10 and trade-based weights.

The first column of Table 1 (and of all subsequent tables) reports the posterior inclusion probability (PIP) of each variable. To judge the effectiveness of a regressor in explaining the current account, the interpretation of the results follows a rule of thumb proposed by Jeffreys (1961) and refined by Kass and Raftery (1995). According to this rule, the evidence of a regressor having an effect is weak, positive, strong, or decisive if the posterior inclusion probabilities lie between 50-75%, 75%-95%, 95%-99% or are greater than 99%, respectively.

Columns (2) and (3) of Table 1 (and of all subsequent tables) present the mean and standard deviation (s.d.) of the coefficients' BMA posterior distributions.¹² While the exact distribution of the ratio of BMA posterior mean to posterior s.d. reported in column (4) is not known, several interpretations of this ratio are available in the literature. Raftery (1995) suggested that for a variable to be considered as effective the ratio of mean/s.d. (in absolute value) must exceed 1, which from a frequentist viewpoint implies that the regressor improves the power of the regression. Masanjala and Papageorgiou (2008) are more stringent and consider a threshold value of the mean/s.d. ratio of 1.3, which approximately corresponds to a 90% confidence interval in frequentist approaches. Finally, Sala-i-Martin et al. (2004) set this threshold at 2 since they argue that having a mean/s.d. ratio of 2 in absolute value indicates an approximate 95% Bayesian coverage region that excludes zero.

Overall, the results reported in Table 1 are very similar to Ca' Zorzi et al. (2012a, Table 3). In particular, the initial net foreign asset position and the oil balance are the most robust determinants of current accounts. Both have posterior inclusion probabilities (PIP) higher than 95%, which,

¹²The mean and standard deviations are conditional of the variable being included in a model; however, unconditional versions of these moments can be easily recovered.

according to Kass and Raftery (1995), represents decisive evidence of an effect on current account fluctuations. Moreover, the ratios of mean/s.d. are larger than 2, which confirms the statistical significance of the estimated effects. In addition, the coefficient estimate on the NFA of 0.036 is almost identical to the one in Ca' Zorzi et al. (2012a).¹³ However, we find a somewhat larger coefficient on the oil balance (0.3 versus their range of 0.13-0.16). Furthermore, we find evidence of a positive effect of the fiscal balance. Ca' Zorzi et al. (2012a) report a robust effect of the fiscal balance only for smaller temporal aggregation windows of 1 and 4 years. Given the similarity of our results compared to Ca' Zorzi et al. (2012a), we conclude that the differences in the set of countries included in our sample do not substantially drive our findings.

4.2 Extended set of regressors

We now turn to our extended set of regressors. In particular, we add variables that proxy for financial market regulations. In addition, we include variables that pertain to financial market development, trade openness, terms of trade effects, institutional quality as well as a financial centre dummy. With 28 variables, the number of potential models now rises to almost 270 million.

We first consider the same static specification without unobserved heterogeneity as Ca' Zorzi et al. (2012a). Most importantly, we find first evidence that financial market regulations may impact the current account (Table 2). In particular, easing bank entry barriers and the current account are negatively correlated.

Turning to the other variables, we now find stronger evidence for the fiscal balance, population growth and the Asian crisis dummy, compared to results reported in Table 1, all with the theoretically expected sign. In contrast, the evidence for an effect of the NFA now vanishes. Of the additional variables, we find some weak evidence that credit growth and the current account are negatively correlated, and the theoretically expected positive sign for the financial center dummy.

Next, we allow for country-specific unobserved heterogeneity by including country fixed effects (Table 3). Compared to Table 2, a range of important differences emerge, which illustrates the importance of accounting for unobserved heterogeneity and indicates that ignoring such unobserved effects could result in misleading conclusions. We again find evidence that bank entry and the current account are correlated. The PIP now drops to below 75%, but the ratio of posterior mean to standard deviation remains above 2, indicating that the estimated effect is statistically significant.

 $^{^{13}}$ While Ca' Zorzi et al. (2012a) use 12-year intervals, we use 10-year intervals to ensure the availability of 3 time series observations per country given our sample period.

Theory	Variable	PIP	Posterior Mean	Posterior Std.	P. Mean / P. Std.
	Initial NFA	0.147	0.010	0.011	0.895
Oil dependency	Oil balance	0.998	0.327	0.082	3.984
Trade integration	Openness	0.122	0.000	0.012	0.024
	Trade regulations	0.219	-0.631	0.519	-1.215
	Terms of trade growth	0.117	0.073	0.172	0.422
Fiscal policy	Fiscal balance	0.979	0.396	0.116	3.410
Economic development	Relative income	0.147	-0.003	0.008	-0.447
	Relative income squared	0.135	0.000	0.000	0.000
	Economic growth	0.175	0.254	0.268	0.947
	Investment	0.169	-0.107	0.105	-1.023
Demographics	Population growth	0.702	-1.939	0.864	-2.244
	Dependency ratio (old)	0.173	-0.094	0.139	-0.674
	Dependency ratio (young)	0.144	0.008	0.069	0.120
Institutional quality	Civil liberties	0.320	0.624	0.398	1.569
	Legal system and property rights	0.169	0.386	0.411	0.940
	Labour market regulations	0.107	-0.101	0.302	-0.333
Dummies	Asian crisis dummy	0.776	3.302	1.304	2.532
	Financial centre	0.999	5.367	1.138	4.716
Financial development	Financial integration	0.103	-0.001	0.002	-0.278
	Capital account openness	0.144	0.310	0.484	0.640
	Private credit to GDP	0.137	0.788	0.998	0.790
	Growth of private credit to GDP	0.622	-0.145	0.064	-2.268
Financial regulation	Credit controls	0.112	-0.162	0.573	-0.282
	Bank entry barriers	0.872	-1.658	0.585	-2.836
	Privatization of banking sector	0.247	0.570	0.420	1.355
	Securities market development	0.183	0.875	0.796	1.100
	Banking sector supervision	0.130	-0.195	0.590	-0.330
	Credit market regulations	0.110	0.017	0.330	0.052

Table 2: BMA results under static specification without unobserved heterogeneity

Note: This table presents the results of applying the BMA pooled and static approach as in Ca'Zorzi et al. (2012) to the extended set of regressors with m = 10 and trade-based weights.

Interestingly, we now find a larger number of robust current account determinants. In particular we find evidence of the stages of development hypothesis with relative income and its squared term with PIP above 99%. We also find robust evidence of a negative association between private credit to GDP ratio and the current account. In addition we find evidence of demographic factors robustly related to the current account, with the theoretically predicted negative sign on the old age dependency ratio. Furthermore higher institutional quality as proxied by civil liberties is associated with lower current account balances (note that the coding of the variable is inverted). We also find a positive correlation between trade openness and the current account, in line with most empirical studies. In contrast, the dummy variables (Asian crisis and financial center) loose their significance.

Theory	Variable	PIP	Posterior Mean	Posterior Std.	P. Mean / P. Std.
	Initial NFA	0.522	-0.008	0.013	-0.623
Oil dependency	Oil balance	1.000	0.909	0.244	3.729
Trade integration	Openness	0.995	0.127	0.030	4.262
	Trade regulations	0.396	-0.370	0.703	-0.526
	Terms of trade growth	0.904	0.243	0.188	1.295
Fiscal policy	Fiscal balance	0.862	0.325	0.174	1.868
Economic development	Relative income	0.991	0.553	0.150	3.684
	Relative income squared	0.992	-0.003	0.001	-4.000
	Economic growth	0.712	-0.935	0.390	-2.401
	Investment	0.644	-0.301	0.133	-2.275
Demographics	Population growth	0.206	-1.694	1.661	-1.020
	Dependency ratio (old)	0.973	-0.672	0.217	-3.096
	Dependency ratio (young)	0.583	0.289	0.152	1.898
Institutional quality	Civil liberties	0.840	2.066	0.871	2.373
	Legal system and property rights	0.168	0.182	0.755	0.241
	Labour market regulations	0.281	-0.892	0.595	-1.499
Dummies	Asian crisis dummy	0.208	-1.002	2.097	-0.478
	Financial centre	0.645	5.313	2.142	2.480
Financial development	Financial integration	0.655	-0.006	0.003	-2.440
	Capital account openness	0.288	-0.763	0.672	-1.137
	Private credit to GDP	0.973	-5.135	1.690	-3.039
	Growth of private credit to GDP	0.202	-0.048	0.060	-0.794
Financial regulation	Credit controls	0.185	0.043	0.871	0.049
	Bank entry barriers	0.715	-1.839	0.806	-2.281
	Privatization of banking sector	0.140	0.741	0.647	1.144
	Securities market development	0.387	1.463	1.207	1.212
	Banking sector supervision	0.358	0.595	0.716	0.832
	Credit market regulations	0.251	0.130	0.420	0.309

Table 3: BMA results under static specification with unobserved heterogeneity

Note: This table presents the results of applying the BMA static approach with country-specific effects (unobserved heterogeneity) to the extended set of regressors with m = 10 and trade-based weights.

of persistence in the current account series with a PIP of the lagged dependent variable of 1. The posterior mean of 0.354 implies that following a shock to the current account, 65% of the deviation of the current account from its equilibrium value is corrected over 10 years. The coefficient of the lagged dependent variable is smaller than in previous studies (e.g. Chinn and Prasad, 2003; Bussiere et al., 2004, Arezki and Hasanov, 2009), which, however, use higher frequency data (annual or 4-year averages). Our results suggest that persistence remains important even at the lower frequency (10-year) current account dynamics considered here.

Once we additionally account for persistence, a larger number of variables related to financial regulations become significant. We again find strong evidence that easier bank entry is associated with lower current accounts. Moreover, we now also find that bank privatization and securities markets deregulation are robust determinants of the current account. However, in contrast to easing bank access, the coefficients on these variables are positive. This suggests that different aspects of financial regulation might have opposite effects on the current account. Finally, we find that two variables relating to credit market regulations appear to be robustly related to the current account when assessed in terms of their PIP. However both of these variables have very low mean/s.d. ratios (below one), indicating that we cannot conclude the sign of this relation because of model uncertainty.

Theory	Variable	PIP	Posterior Mean	Posterior Std.	P. Mean / P. Std.
	Lagged current account	1.000	0.354	0.198	1.794
	Initial NFA	0.867	-0.009	0.012	-0.758
Oil dependency	Oil balance	1.000	1.079	0.241	4.475
Trade integration	Openness	1.000	0.143	0.031	4.613
	Trade regulations	0.116	-1.091	0.746	-1.462
	Terms of trade growth	0.051	0.193	0.182	1.062
Fiscal policy	Fiscal balance	1.000	0.425	0.154	2.761
Economic development	Relative income	1.000	0.599	0.138	4.334
	Relative income squared	1.000	-0.003	0.001	-4.833
	Economic growth	0.971	-0.844	0.370	-2.282
	Investment	0.270	-0.250	0.141	-1.769
Demographics	Population growth	0.957	-1.944	1.410	-1.378
	Dependency ratio (old)	0.979	-0.580	0.193	-2.998
	Dependency ratio (young)	0.940	0.430	0.141	3.048
Institutional quality	Civil liberties	0.961	1.598	0.800	1.998
	Legal system and property rights	0.292	-0.048	0.656	-0.073
	Labour market regulations	1.000	-1.044	0.551	-1.894
Dummies	Asian crisis dummy	0.801	-3.218	1.911	-1.684
	Financial centre	1.000	-6.406	1.117	-5.735
Financial development	Financial integration	1.000	-0.004	0.003	-1.556
	Capital account openness	0.985	-1.278	0.650	-1.966
	Private credit to GDP	0.989	-5.261	1.526	-3.448
	Growth of private credit to GDP	0.074	-0.053	0.059	-0.887
Financial regulation	Credit controls	0.983	0.208	0.811	0.256
	Bank entry barriers	0.930	-1.676	0.713	-2.350
	Privatization of banking sector	0.872	1.335	0.580	2.302
	Securities market development	0.884	1.340	1.043	1.286
	Banking sector supervision	0.065	0.339	0.701	0.483
	Credit market regulations	1.000	0.214	0.390	0.549

Table 4: BMA results under dynamic specification with unobserved heterogeneity

Note: This table presents the results of applying the BMA dynamic approach with country-specific effects (unobserved heterogeneity) to the extended set of regressors with m = 10 and trade-based weights.

Turning to the other variables, we now find even stronger evidence (in terms of PIP) for the relevance of virtually all theories suggested by the literature. The large majority of the variables also have the expected sign. Exceptions are the young age dependency ratio, the Asian crisis dummy and the financial sector dummy which have counterintuitive signs.¹⁴ An interesting case is the NFA.

¹⁴Kerdrain et al. (2010) and Kumhof et al. (2012) also find a significant positive effect of the young age dependency ratio on the current account in a sample of developed countries. A possible explanation of this finding could be that medium-aged households increase their saving rate in response to anticipated future education expenses of their offspring.

While the large majority of empirical studies have found a positive impact on current accounts, we conclude that the direction is uncertain once we take model uncertainty seriously, as indicated by the posterior mean to standard deviation ratio of less than one. This result suggests that the lagged NFA variable in studies using a static equation may capture some of the persistence effect. Once persistence is appropriately accounted for, the sign becomes ambiguous.

One variable that has received considerable attention in the literature is the fiscal balance. Our preferred specification confirms its robust relationship with current account balances and suggests that over the medium term (10 years) a 1% increase in the budget balance increases current account by 0.4%. In the long-term the effect increases to about 0.65%.¹⁵ These estimates are somewhat larger than found in the previous literature which range from 0.1 to 0.5 (e.g. Bussiere et al, 2004; Chin and Ito, 2007, 2009; Gruber and Kamin 2007, 2009).

4.3 Goodness of fit

Figures 1-3 show the average actual current account realizations (red dots) compared to the predicted current accounts and their associated 95% confidence intervals (blue bars) based on our BMA results for each country and the time periods 1980-1990, 1990-2000 and 2000-2010. In particular, for each estimated model within the BMA approach we compute the predicted current accounts for each country-period; then, we compute the weighted median and 5% and 95% percentiles from the overall distribution of model-specific predicted current accounts.

Figures 1-3 indicate that our preferred specification accounting for unobserved heterogeneity and persistence can explain fairly well the observed current account developments. This specification also seems to provide a better fit than alternative specifications without unobserved heterogeneity and/or persistence, with the differences particularly pronounced for the period 2000-2010 in Figure 3. We acknowledge that this finding is somewhat unsatisfying because unobserved heterogeneity and the lagged current account provide little information on the drivers of current accounts. However, as our results highlight, omitting these two factors from the empirical model would result in biased estimates and give a misleading picture of the drivers of current account balances.

4.4 Robustness

In this section we report robustness analysis with respect to different priors specifications and different temporal aggregation windows.

The choice of prior distribution specifications is always contentious in Bayesian analysis. Ley and Steel (2009) show that differences in BMA approaches can arise from different priors on the prior inclusion probability of each regressor. In our baseline specification we have used a prior

¹⁵The long-term effect is calculated according to the following formula $\frac{\beta}{(1-\alpha)}$.

inclusion probability of 50% for each variable ($\xi = 0.50$).¹⁶ Table 5 displays the posterior inclusion probabilities for different prior inclusion probabilities. The table shows that our results are overall robust to variations in the prior inclusion probability. Only when we choose a very low prior inclusion probability of $\xi = 0.17$ for each regressor, the posterior inclusion probability of bank entry barriers and privatization of the banking sector falls below the 50% threshold. However, the PIP of bank

		PIPs under different prior inclusion probability				oabilities
Theory	Variable	$\xi = 0.17$	$\xi = 0.34$	$\xi = 0.50$	$\xi = 0.69$	$\xi=0.86$
	Lagged current account	1.000	1.000	1.000	1.000	1.000
	Initial NFA	0.246	0.714	0.867	0.948	0.978
Oil dependency	Oil balance	0.989	1.000	1.000	1.000	1.000
Trade integration	Openness	1.000	1.000	1.000	1.000	1.000
	Trade regulations	0.043	0.075	0.116	0.196	0.319
	Terms of trade growth	0.189	0.080	0.051	0.058	0.103
Fiscal policy	Fiscal balance	1.000	1.000	1.000	1.000	1.000
Economic development	Relative income	0.999	1.000	1.000	1.000	1.000
	Relative income squared	0.992	1.000	1.000	1.000	1.000
	Economic growth	0.447	0.901	0.971	0.996	1.000
	Investment	0.343	0.259	0.270	0.312	0.435
Demographics	Population growth	0.654	0.903	0.957	0.984	0.993
	Dependency ratio (old)	0.791	0.946	0.979	0.991	0.998
	Dependency ratio (young)	0.798	0.907	0.940	0.969	0.987
Institutional quality	Civil liberties	0.951	0.932	0.961	0.983	0.993
	Legal system and property rights	0.450	0.355	0.292	0.310	0.425
	Labour market regulations	0.997	1.000	1.000	1.000	1.000
Dummies	Asian crisis dummy	0.327	0.705	0.801	0.858	0.882
	Financial centre	0.996	1.000	1.000	1.000	1.000
Financial development	Financial integration	0.997	1.000	1.000	1.000	1.000
	Capital account openness	0.448	0.930	0.985	0.998	1.000
	Private credit to GDP	0.945	0.987	0.989	0.993	0.998
	Growth of private credit to GDP	0.044	0.052	0.074	0.123	0.203
Financial regulation	Credit controls	0.749	0.947	0.983	0.997	0.999
	Bank entry barriers	0.375	0.817	0.930	0.978	0.992
	Privatization of banking sector	0.155	0.714	0.872	0.953	0.988
	Securities market development	0.789	0.818	0.884	0.945	0.979
	Banking sector supervision	0.048	0.045	0.065	0.104	0.196
	Credit market regulations	0.996	1.000	1.000	1.000	1.000

Table 5: BMA results under dynamic specification with unobserved heterogeneity - Robustness (I)

Note: This table presents the PIPs resulting from the approach in Table 4 but considering different prior inclusion probabilities. In particular ξ is the prior inclusion probability for each regressor; $\xi = 0.50$ refers to the uniform model priors considered in the baseline case, which implies that each model is equally probable a priori (see Appendix A.2 for more details).

¹⁶This prior implies that each model is equally likely a priory, i.e., the prior model probability is $1/2^k$ for all models where k is the number of variables considered.

entry barriers remains above the prior inclusion probability, indicating that the inclusion of these variables in current account models is supported by the data.

In Table 6, we explore a different prior structure for the model space. The uniform priors considered above fail to account for the multicollinearity between regressors. In particular, collinearity of the regressors might result in placing too little probability on good, but unique, models as a consequence of massing excessive probability on large sets of bad, but similar, models. To account for this issue, we consider here the dilution priors first introduced by George (1999). Essentially, the dilution priors downweight models with many collinear regressors by pre-multiplying the prior model probability by the determinant of the correlation matrix of the regressors included in this model.¹⁷ While the PIPs of some variables are reduced, the BMA results reported in Table 6 broadly confirm the robustness of our main findings to multicollinearity concerns.

Theory	Variable	PIP	Posterior Mean	Posterior Std.	P. Mean / P. Std.
	Lagged current account	1.000	0.357	0.212	1.689
	Initial NFA	0.719	-0.010	0.012	-0.826
Oil dependency	Oil balance	1.000	1.037	0.261	3.980
Trade integration	Openness	1.000	0.139	0.032	4.309
	Trade regulations	0.073	-1.070	0.813	-1.317
	Terms of trade growth	0.124	0.257	0.183	1.403
Fiscal policy	Fiscal balance	1.000	0.408	0.166	2.466
Economic development	Relative income	1.000	0.578	0.149	3.874
	Relative income squared	1.000	-0.003	0.001	-4.362
	Economic growth	0.871	-0.799	0.410	-1.949
	Investment	0.326	-0.267	0.146	-1.833
Demographics	Population growth	0.865	-1.792	1.528	-1.172
	Dependency ratio (old)	0.904	-0.578	0.203	-2.845
	Dependency ratio (young)	0.828	0.414	0.145	2.853
Institutional quality	Civil liberties	0.915	1.684	0.856	1.967
	Legal system and property rights	0.315	0.035	0.673	0.052
	Labour market regulations	1.000	-0.993	0.588	-1.690
Dummies	Asian crisis dummy	0.718	-2.994	2.004	-1.494
	Financial centre	1.000	-6.306	1.179	-5.349
Financial development	Financial integration	1.000	-0.005	0.003	-1.582
	Capital account openness	0.883	-1.237	0.687	-1.800
	Private credit to GDP	0.971	-4.995	1.665	-3.000
	Growth of private credit to GDP	0.093	-0.061	0.063	-0.971
Financial regulation	Credit controls	0.921	0.073	0.854	0.085
	Bank entry barriers	0.823	-1.714	0.746	-2.299
	Privatization of banking sector	0.699	1.308	0.613	2.132
	Securities market development	0.761	1.154	1.159	0.996
	Banking sector supervision	0.074	0.451	0.737	0.612
	Credit market regulations	1.000	0.172	0.412	0.418

Table 6: BMA results under dynamic specification with unobserved heterogeneity - Robustness (II)

Note: This table presents the PIPs resulting from the approach in Table 4 but considering different prior inclusion probabilities. In particular, we consider the dilution priors discussed in George (1999) in order to account for possible multicollinearity between the different regressors, see e.g. George (2010).

 17 Note that this determinant is equal to 1 when the regressors are orthogonal and 0 when they are collinear.

As a final robustness check, we investigate different temporal aggregation windows. In our baseline specification we have used a temporal aggregation window of m = 10. Several other studies have used shorter aggregation windows (e.g. Prasad and Chinn, 2003; Chinn and Ito, 2007, 2009). Thus, Table 7 reports results for the case of m = 5. The results are again broadly similar to our baseline results. However, the PIP of bank entry barriers drops below 50% and the posterior mean standard deviation ratio of bank privatization falls below 2. This finding suggests that financial regulations exhibit a stronger impact on the current account over the longer term. In terms of the other variables, we find that the coefficient of the budget balance is now smaller and closer to estimates in the previous literature. Finally, the lagged dependent variable is again highly significant and precisely estimated.

Theory	Variable	PIP	Posterior Mean	Posterior Std.	P. Mean / P. Std.
	Lagged current account	1.000	0.261	0.078	3.367
	Initial NFA	0.071	0.007	0.010	0.740
Oil dependency	Oil balance	1.000	0.663	0.126	5.274
Trade integration	Openness	1.000	0.093	0.017	5.447
	Trade regulations	0.059	0.336	0.357	0.941
	Terms of trade growth	0.752	0.213	0.075	2.826
Fiscal policy	Fiscal balance	0.998	0.187	0.086	2.171
Economic development	Relative income	1.000	0.470	0.093	5.028
	Relative income squared	1.000	-0.002	0.000	-5.500
	Economic growth	0.054	0.006	0.167	0.035
	Investment	1.000	-0.401	0.077	-5.196
Demographics	Population growth	0.691	-1.288	0.585	-2.203
	Dependency ratio (old)	0.995	-0.455	0.113	-4.021
	Dependency ratio (young)	0.977	0.261	0.075	3.475
Institutional quality	Civil liberties	0.979	1.218	0.426	2.856
	Legal system and property rights	0.990	-0.565	0.297	-1.899
	Labour market regulations	0.127	-0.461	0.351	-1.315
Dummies	Asian crisis dummy	0.994	1.441	1.172	1.229
	Financial centre	0.996	-1.757	0.563	-3.120
Financial development	Financial integration	0.145	-0.002	0.002	-1.600
	Capital account openness	0.269	-0.545	0.349	-1.560
	Private credit to GDP	0.995	-3.201	1.050	-3.049
	Growth of private credit to GDP	0.666	-0.059	0.026	-2.316
Financial regulation	Credit controls	0.851	-0.182	0.384	-0.473
	Bank entry barriers	0.160	-0.641	0.423	-1.515
	Privatization of banking sector	0.901	0.081	0.354	0.230
	Securities market development	0.966	1.280	0.542	2.363
	Banking sector supervision	0.078	0.403	0.419	0.962
	Credit market regulations	0.977	0.170	0.197	0.861

Table 7: BMA results under dynamic specification with unobserved heterogeneity - Robustness (III)

Note: This table presents the results resulting from the approach in Table 4 but considering a different temporal aggregation window (i.e. m = 5 instead of m = 10).

4.5 Discussion

Our results overall suggest a robust correlation between financial (de-)regulation and the current account. More interestingly, the results suggest that different aspects of financial (de-)regulation may affect the current account in opposite directions. In this section we provide some discussion of the results.

In particular, we find that easing bank entry negatively affects the current account. In light of our discussion in section 2.1, the result suggests that this aspect of financial (de-)regulation may mainly affect the current account through its impact on liquidity constraints. For example, easier entry by foreign banks should facilitate lending across borders and hence access to foreign funds. Moreover, by stimulating competition, easier bank entry may encourage risk taking, which could prompt banks to lend to previously liquidity constraint higher risk clients such as lower-income households and small firms.

In contrast, we find a robust positive correlation between the current account and both securities market deregulation and bank privatisation. These findings are consistent with the view that financial market deregulation may spur savings (e.g. Edwards, 1996; McKinnon, 1973; Shaw, 1973) and hence tends to improve the current account. One possible channel is that measures, such as tax incentives, to develop (government and corporate) bond, equity and derivative markets raise both the demand and the supply of more sophisticated saving products, which help facilitate risk management and mobilise savings. Similarly, bank privatisation may spur innovation of banking products, which may also channel more savings into the financial system. At the same time, securities market deregulation and/or bank privatisation may also increase the supply of borrowing products or decrease borrowing costs. Moreover, privatised banks may be more inclined to lend to households compared to stateowned banks, which are often discouraged to lend to this sector. Both channels should ease borrowing constraints. However, our results suggest that on net the saving enhancing effect of these types of deregulations dominates.

A potential caveat to our findings is that our employed indicators of financial regulation are rather crude, measuring deregulation on scale from 0-3. For example, the securities market deregulation indicator may not sufficiently differentiate between benign measures to increase the liquidity of bond and equity markets, and the type of deregulations that have accelerated the process of securitization and emergence of highly sophisticated financial products, such as credit default options and asset backed securities. Securitization has sharply reduced borrowing costs and may have reduced the incentives of financial intermediaries to carefully screen borrowers (Keys et al., 2010), which led to excessive borrowing and deteriorating current accounts in several countries prior to the global financial crisis. More research is clearly needed to better understand the exact channels through which different aspects of financial deregulation may affect saving, investment and the current account. Finally, the effect of financial deregulation on the current account may depend on country circumstances. For example, the effect may differ between debtor and creditor countries, between countries with open or closed capital accounts, or may depend on development of the legal system (e.g. Chinn and Ito, 2007). One simple way to investigate such effects would be to introduce interaction effects between financial regulation variables other variables. Alternatively one could analyse the relationship across different sub-samples of countries. Unfortunately, our small country sample does not allow for this type of analysis and we leave it to future research.

5 Concluding Remarks

In this paper, we investigate the relationship between financial market regulations and the current account balance, an area for which limited empirical evidence exists. We use a panel of countries over the period 1980-2010 and employ a novel empirical approach which allows us to simultaneously address model uncertainty, current account persistence and country-specific unobserved heterogeneity.

We find that financial market regulations are robust current account determinants even after accounting for a wide range of competing theories. Moreover, our results imply that different aspects of financial market regulations can have opposing effects on the current account, highlighting the need to take a nuanced view of financial deregulation. In particular, we find that easing bank entry barriers leads to a deterioration of the current account balance, consistent with the view of financial deregulation that financial deregulation eases liquidity constraints. In contrast, bank privatization and deregulations of securities market have a positive impact on the current account, in line with the saving enhancing view of financial deregulation.

Our results also highlight the importance to control for persistence and unobserved heterogeneity in current account estimations. Once we control for these factors, we find robust evidence for a wide range of variables related to different current account theories. For example we find strong evidence of a positive effect from fiscal balances on current accounts as well as proxies for demographics, stages of development, natural resource abundance and institutional quality. This contrasts with the findings in previous BMA exercises which account for model uncertainty but neglect persistence and unobserved heterogeneity (e.g. Ca' Zorzi et al., 2012a).

We believe that our results improve the understanding of the link between financial regulations and current account balances by identifying robust correlations. Nevertheless, more research is clearly needed to understand the channels through which particular aspects of financial regulation affect the current account. In addition, our results highlight the importance of financial regulations as current account determinants but do not readily lend themselves to normative evaluations of current account imbalances in the spirit of the (new) External Balance Assessment (EBA) methodology of the IMF (IMF, 2013).¹⁸ Normative evaluations of whether current account imbalances are excessive require assessments of deviations of policies from desirable or appropriate levels. Judging the appropriateness of financial market regulatory settings is still an area of intense debate, which involves weighing efficiency consideratons against financial stability concerns, and is beyond the scope of this paper.

¹⁸The EBA methodology replaces the previous Consultative Group on Exchange Rate Issues (CGER) methodology (Lee et al., 2008).

References

- Abiad, A., E. Detragiache and T. Tressel (2010) "A New Database of Financial Reforms," *IMF Staff Papers*, Vol. 57, pp. 281-302.
- [2] Alfaro, L., S. K-Ozcan, and V. Volosovych (2008), "Why Doesn't Capital Flow from Rich to Poor Countries? An Empirical Investigation", *The Review of Economics and Statistics*, Vol. 90, pp. 347-368.
- [3] Alvarez, J. and M. Arellano (2003) "The time series and cross-section asymptotics of dynamic panel data estimators," *Econometrica*, Vol. 71, pp. 1121-1159.
- [4] Arellano, M. (2003) "Panel Data Econometrics," Oxford University Press.
- [5] Arellano, M. and O. Bover (1995) "Another Look at the Instrumental Variable Estimation of Error-Components Models," *Journal of Econometrics*, Vol. 68, pp. 29-52.
- [6] Arezki, R. and F. Hasanov (2009) "Global Imbalances and Petrodollars," *IMF Working Paper*, No. 09/89.
- [7] Balestra, P. and M. Nerlove (1966) "Pooling Cross Section and Time Series Data in the Estimation of a Dynamic Model: The Demand for Natural Gas," *Econometrica*, Vol. 34, pp. 585-612.
- [8] Bandiera, O, R Caprio, P Honohan, and F Schiantarelli (2000) "Does Financial Reform Raise or Reduce Savings?" Review of Economics and Statistics, Vol. 82, pp. 239-263.
- [9] Bayoumi, T. (1993) "Financial Deregulation and Household Saving," *Economic Journal*, Vol.103.
- [10] Beck, T. and A. Demirgüc-Kunt (2009) "Financial Institutions and Markets Across Countries and over Time: Data and Analysis," World Bank Policy Research Working Paper, No. 4943.
- [11] Beidas-Strom, S. and P. Cashin (2011) "Are Middle Eastern Current Account Imbalances Excessive?," *IMF Working Paper*, No. 11/195.
- [12] Bernanke, B. (2005) "The Worldwide Saving Glut and the U.S. Current Account Deficit," Sandridge Lecture, Virginia Association of Economics, Richmond, VA, 10 March.
- [13] Blanchard, O. and G. Milesi-Ferretti (2012) "(Why) Should Current Account Balances Be Reduced?" *IMF Economic Review*, Vol. 60(1), pp. 139-150.
- [14] Borio, C. and P. Disyatat (2011), "Global Imbalances and the Financial Crisis: Link or no Link?" BIS Working Paper, No. 346.

- [15] Boyd, J. and B. Smith (1992) "Intermediation and the Equilibrium Allocation of Investment Capital: Implications for Economic Development," *Journal of Monetary Economics*, Vol. 30, pp. 409-432.
- [16] Brock, W., S. Durlauf, and K. West (2003) "Policy Evaluation in Uncertain Economic Environments," *Brookings Papers on Economic Activity*, Vol. 1, pp. 235-322.
- [17] Bussiere, M., M. Fratzscher, and G. Müller (2004) "Current Account Dynamics in OECD and EU Acceding Countries - An Intertemporal Approach," ECB Working Paper, No. 311.
- [18] Caballero, R. J., E. Farhi and P. Gourinchas (2008): "An Equilibrium Model of 'Global Imbalances' and Low Interest Rates," *American Economic Review*, Vol. 98, pp. 358-93.
- [19] Calderón, C., A. Chong, and N. Loayza (2002) "Determinants of Current Account Deficits in Developing Countries," The B.E. Journal of Macroeconomics, Vol. 2.
- [20] Campa, J. and A. Gavilan (2011) "Current Accounts in the Euro Area: An Intertemporal Approach," *Journal of International Money and Finance*, Vol. 30(1), pp. 205-228.
- [21] Ca' Zorzi, M., A. Chudik and A. Dieppe (2012a) "Thousands of models, one story: Current account imbalances in the global economy," *Journal of International Money and Finance*, Vol. 31, pp. 1319-1338.
- [22] Ca' Zorzi, M., A. Chudik and A. Dieppe (2012b) "And then Current Accounts (Over)Adjusted," *Empirical Economics*, Vol. 43, pp. 245-270.
- [23] Chen, R., G. Milesi-Ferretti, and T. Tressel (2012) "External Imbalances in the Euro Area," *IMF Working Paper*, No. 12/236.
- [24] Chinn, M. (2013) "Global Imbalances," In: Caprio, G. (Ed.), The Evidence and Impact of Financial Globalization, Elsevier.
- [25] Chinn, M. and H. Ito (2007) "Current Account Balances, Financial Development and Institutions: Assaying the world 'saving glut'", *Journal of International Money and Finance*, Vol. 26, pp. 546-569.
- [26] Chinn, M. and H. Ito (2008a) "Global Current Account Imbalances: American Fiscal Policy versus East Asian Savings", *Review of International Economics*, Vol. 16, pp. 479-498.
- [27] Chinn, M. and H. Ito (2008b) "A New Measure of Financial Openness," Journal of Comparative Policy Analysis, Vol. 10, pp. 309-322.

- [28] Chinn, M. and E. Prasad (2003) "Medium-term determinants of current accounts in industrial and developing countries: an empirical exploration," *Journal of International Economics*, Vol. 59, pp. 47-76.
- [29] Clarida, R. (2005a) "Japan, China, and the U.S. Current Account Deficit," *Cato Journal*, Vol. 25, pp.111-15.
- [30] Clarida, R. (2005b) "Some Thoughts on the Sustainability and Adjustment of Global Current Account, Imbalances," speech given at the Council on Foreign Relations, 28 March.
- [31] Debelle, G. and H. Faruqee (1996) "What Determines the Current Account? A Cross-Sectional and Panel Approach," *IMF Working Paper*, No. 96/58.
- [32] Draper, D. (1995) "Assessment and Propagation of Model Uncertainty," Journal of the Royal Statistical Society, Vol. 57, pp. 45-97.
- [33] Edwards, S. (1996) "Why Are Latin America's Saving Rates So Low: An International Comparative Analysis," *Journal of Development Economics*, Vol. 51.
- [34] Eicher, T., C. Papageorgiou and A. Raftery (2011) "Default Priors and Predictive Performance in Bayesian Model Averaging, with Application to Growth Determinants," *Journal of Applied Econometrics*, Vol. 26, pp. 30-55.
- [35] Fernandez, C., E. Ley and M. Steel (2001) "Model Uncertainty in Cross-Country Growth Regressions," *Journal of Applied Econometrics*, Vol. 16, pp. 563-576.
- [36] Ferrero, A. (2012) "House Price Booms, Current Account Deficits, and Low Interest Rates," *Federal Reserve Bank of New York Staff Reports*, No. 541.
- [37] Furnival, G. and R. Wilson (1974) "Regression by Leaps and Bounds," *Technometrics*, Vol. 16, pp. 499-511.
- [38] George, E. I. (1999) "Sampling considerations for model averaging and model search," Invited discussion of Model Averaging and Model Search, by M. Clyde. In Bayesian Statistics 6 (J. M. Bernardo, J. O. Berger, A. P. Dawid and A. F. M. Smith, eds.), pp. 175177. Oxford University Press.
- [39] George, E. I. (2010) "Dilution priors: compensating for model space redundancy." In Borrowing Strength: Theory Powering Applications - A Festschrift for Lawrence D. Brown, IMS Collections, 6, 158-165.

- [40] Gruber, J. (2004) "A Present Value Test of Habits and the Current Account," Journal of Monetary Economics, Vol. 51, pp. 1495-1507.
- [41] Gruber, J. and S. Kamin (2007) "Explaining the Global Pattern of Current Account Imbalances", Journal of International Money and Finance, Vol. 26, pp. 500-22.
- [42] Gruber, J. and S. Kamin (2009) "Do Differences in Financial Development Explain the Global Pattern of Current Account Imbalances?", *Review of International Economics*, Vol. 17, pp. 667-688.
- [43] Gwartney, J., J. Hall and R. Lawson (2011) "Economic Freedom of the World: Annual Report 2011", The Fraser Institute, Vancouver, B.C.
- [44] IMF (2013) "External Balance Assessment (EBA) Methodology: Technical Background", IMF Policy Paper, June.
- [45] Ito, H. and M. Chinn (2009) "East Asia and Global Imbalances: Saving, Investment, and Financial Development," in *Financial Sector Development in the Pacific Rim*, eds. T. Ito and A. Rose, National Bureau of Economic Research-East Asian Seminar on Economics (NBER-EASE), Vol. 18.
- [46] Jappelli, T. and M Pagano (1994), "Saving, Growth, and Liquidity Constraints," Quarterly Journal of Economics, Vol. 109, pp. 83-109.
- [47] Jeffreys, H. (1961) "Theory of Probability," 3rd edition, Clarendon Press, Oxford.
- [48] Ju, J. and S-J. Wei (2010), "Domestic Institutions and the Bypass Effect of Financial Globalisation," American Economic Journal: Economic Policy, Vol. 2, pp. 173-204.
- [49] Kaas, R. and A. Raftery (1995) "Bayes Factors," Journal of the American Statistical Association, Vol. 90, pp. 773-795.
- [50] Kerdrain, C., I. Koske and I. Wanner (2010) "The Impact of Structural Policies on Saving, Investment and Current Accounts," OECD Economics Department Working Papers, No. 815.
- [51] Keys, B.J., T. Mukherjee, A. Seru, and V. Vig (2010) "Did Securitization Lead to Lax Screening? Evidence from Subprime Loans," *The Quarterly Journal of Economics*, Vol. 125, pp. 307-362.
- [52] King, M. (2009) "Speech at the CBI dinner," Nottingham, 20 January.

- [53] Kumhof, M., C. Lebarz, R. Rancire, A. Richter, N. Throckmorton (2012) "Income Inequality and Current Account Imbalances", Paper presented at the 2013 American Economic Association Conference.
- [54] Lane, P. and G. Milesi-Ferretti (2007) "The External Wealth of Nations Mark II: Revised and Extended Estimates of Foreign Assets and Liabilities 1970-2004," *Journal of International Economics*, Vol. 73, pp. 223-250.
- [55] Lanau, S. and T. Wieladek "Financial Regulation and the Current Account," *IMF Working Paper*, No. 12/98.
- [56] Lee, J., G. Milesi-Ferretti, J. Ostry, A. Prati and L. Ricci (2008) "Exchange Rate Assessment: CGER Methodologies," *IMF Occasional Paper*, No. 261.
- [57] Levine, R. (2005) "Finance and Growth: Theory and Evidence," in Handbook of Economic Growth, eds. P. Aghion and S. Durlauf, The Netherlands, Elsevier Science.
- [58] Ley, E. and M. Steel (2009) "On the Effect of Prior Assumptions in Bayesian Model Averaging with Applications to Growth Regression," *Journal of Applied Econometrics*, Vol. 24, 651-674.
- [59] Madigan, D. and J. York (1995) "Bayesian Graphical Models for Discrete Data," International Statistical Review, Vol. 63, pp. 215-232.
- [60] Masanjala, W. and C. Papageorgiou (2008) "Rough and Lonely Road to Prosperity: A Reexamination of the Sources of Growth in Africa using Bayesian Model Averaging," *Journal of Applied Econometrics*, Vol. 23, pp. 671-682.
- [61] McKinnon, R. I. (1973), *Money and Capital in Economic Development*, Washington DC, Brookings Institution.
- [62] Mendoza, E., V. Quadrini, and J.-V. Ros-Rull (2009) "Financial Integration, Financial Deepness and Global Imbalances," *Journal of Political Economy*, Vol. 117, pp. 317-416.
- [63] Mitchell, T. and J. Beauchamp (1988) "Bayesian Variable Selection in Linear Regression," Journal of the American Statistical Association, Vol. 83, pp. 1023-1036.
- [64] Moral-Benito, E. (2012) "Determinants of Economic Growth: A Bayesian Panel Data Approach," The Review of Economics and Statistics, Vol. 94, pp. 566-579.
- [65] Morsy, H. (2009) "Current Account Determinants for Oil-Exporting Countries," *IMF Working Paper*, No. 09/28.

- [66] Mundlak, Y. (1978) "On the Pooling of Time Series and Cross Section Data," *Econometrica*, Vol. 46, pp. 69-85.
- [67] Obstfeld, M. (2012) "Financial Flows, Financial Crises, and Global Imbalances," Journal of International Money and Finance, Vol. 31, pp. 469-480.
- [68] Obstfeld, M. and K. Rogoff (2010) "Global Imbalances and the Financial Crisis: Products of Common Causes," in Reuven Glick and Mark M. Spiegel, eds., Asia and the Global Financial Crisis, Federal Reserve Bank of San Francisco.
- [69] OECD (2013), OECD Economic Outlook, Vol. 2013/1, OECD Publishing.
- [70] Portes, R. (2009) "Global Imbalances," in *Macroeconomic Stability and Financial Regulations : Key issues for the G20*, ed. M. Dewatripont, X. Freixas, and R. Portes, pp. 19-26. Centre for Ecnomic Policy Research.
- [71] Raftery, A. (1995) "Bayesian Model Selection for Social Research," Sociological Methodology, Vol. 25, pp. 111-163.
- [72] Rahman, J. (2008) "Current Account Developments in New Member States of the European Union: Equilibrium, Excess, and EU-Phoria," *IMF Working Paper*, No. 08/92.
- [73] Sala-i-Martin, X., G. Doppelhofer and R. Miller (2004) "Determinants of Economic Growth: A Bayesian Averaging of Classical Estimates (BACE) Approach," *American Economic Review*, Vol. 94, pp. 813-835.
- [74] Shaw, E. (1973) Financial Deepening in Economic Development, New York, Oxford University. Press).
- [75] Stiglitz, J. E. (2010) Freefall: America, Free Markets, and the Sinking of the World, New York, W.W. Norton. Economy.



This Figure presents the predicted CAs and their corresponding 95% confidence bands (blue bars) for the period 1980-1990 together with the observed CAs (red dots). See section 4.3 for more details.



This Figure presents the predicted CAs and their corresponding 95% confidence bands (blue bars) for the period 1990-2000 together with the observed CAs (red dots). See section 4.3 for more details.



PANEL A: Static specification without unobserved heterogeneity

This Figure presents the predicted CAs and their corresponding 95% confidence bands (blue bars) for the period 2000-2010 together with the observed CAs (red dots). See section 4.3 for more details.

Theory	Variable	Description	Source
Dependent variable	Current account balance	Current account balance in % of GDP	IMF WEO Sept. 2011
	Initial net foreign assets	Net for eign assets in $\%$ of GDP at the beginning of the 5-year period	Lane and Milesi-Ferretti (2007)
Oil dependency	Oil balance	Oil trade balance in % of GDP	IMF WEO Sept. 2011
Trade integration	Trade openness	Sum of exports and imports in $\%$ of GDP	IMF WEO Sept. 2011
	Trade regulations	Coded from 0 (restricted) to 10 (free)	Gwartney et al. (2011)
	Terms of trade growth	Growth of goods and services terms of trade index	IMF WEO Sept. 2011
Fiscal policy	Budget balance	General government net lending/borrowing in $\%$ of GDP	IMF WEO Sept. 2011
Economic development	Relative income	Real GDP in per capita in $\%$ of GDP weighted average	IMF WEO Sept. 2011
	Relative income squared	Real GDP in per capita in $\%$ of weighted average, squared	IMF WEO Sept. 2011
	Economic growth	Real GDP growth	IMF WEO Sept. 2011
	Investment	Gross fixed investment as a share of GDP	IMF WEO Sept. 2011
Demographics	Population growth	Growth of total population difference	IMF WEO Sept. 2011
	Old age dependency	Ratio of population over 65 in total population aged 15-64	WDI
	Young age dependency	Ratio of population under 15 in total population aged 15-64	WDI
Institutional quality	Civil Liberties	Coded from 1 (free) to 7 (not free)	Freedom House
	Legal system and property rights	Coded from 0 (restricted) to 10 (free)	Gwartney et al. (2011)
	Labour market regulations	Coded from 0 (restricted) to 10 (free)	Gwartney et al. (2011)
Dummies	Asian crisis	Dummy for Asian economies after the crisis	
	Financial centre	Dummy for Belgium, Hong Kong, Netherlands, Switzerland	Lee et al (2008) , Rahman (2008)
Financial development	Financial integration	Sum of assets and liabilities in $\%$ of GDP	Lane and Milesi-Ferretti (2007)
	Capital account openness	Index that ranges from -1.84 (closed) to 2.48 (open)	Chinn and Ito (2008b)
	Private credit to GDP	Private credit by deposit money banks and other financial institutions in $\%$ of GDP	Beck and Demirgüc-Kunt (2009)
	Growth of private credit to GDP	Growth of private credit to GDP	Beck and Demirgüc-Kunt (2009)
Financial regulation	Credit controls	Coded from 0 (fully repressed) to 3 (fully liberalised)	Abiad et al. (2010)
	Bank entry barriers	Coded from 0 (fully repressed) to 3 (fully liberalised)	Abiad et al. (2010)
	Privatization of banking sector	Coded from 0 (fully repressed) to 3 (fully liberalised)	Abiad et al. (2010)
	Securities market development	Coded from 0 (fully repressed) to 3 (fully liberalised)	Abiad et al. (2010)
	Banking sector supervision	Coded from 0 (not regulated) to 3 (highly regulated)	Abiad et al. (2010)
	Credit market regulations	Coded from 0 (restricted) to 10 (free)	Gwartney et al. (2011)

Table A1: Data Description

Note: All variables except for the current account, net foreign asset position, oil balance and growth in terms of trade enter the regressions in deviations from a trade weighted cross-country mean.

A Appendices

A.1 The Correlated-Random-Effects Estimator

As argued by Chinn and Prasad (2003), given the within groups transformation required by fixed effects OLS, one cannot exploit the information contained in regressors without (or with little) variation over time. For instance, some structural variables may affect current account developments and have no variation over time given our sample period. In this Appendix, we present a correlated-random-effects estimator that exploits both between- and within-variation in our panel data; Moreover, given the Bayesian spirit of the BMA approach, we consider a maximum likelihood estimator in the spirit of Balestra and Nerlove (1966) as outlined in Arellano (2003).

Given the model in equation (1), one can assume:

$$\epsilon_{it} \mid CA_i, x_i, \eta_i \sim N\left(0, \sigma_{\epsilon}^2\right) \tag{A1}$$

$$\eta_i \mid CA_i, x_i \sim N\left(\varphi \overline{CA}_i + \delta \overline{x}_i, \sigma_\eta^2\right) \tag{A2}$$

where $x_i = (x_{i0}, x_{i1}, ..., x_{iT})'$ is a $T \times 1$ vector, \overline{x}_i is the time-series mean¹⁹ of x for individual i $(\overline{x}_i = (1/T) \sum_{t=1}^{T} x_{it})$. Note that (A2) allows for correlation between the country-specific effects and the right-hand-side variables in the model. Also, (A1) implies strict exogeneity of the lagged dependent variable. We recognize this represents a drawback of our approach, but we think it is not critical in our context since the magnitude of the α coefficient is not of central interest for understanding the most robust determinants of current account developments.²⁰ In order to relax this assumption, one alternative is to consider the Alvarez and Arellano (2003) correlated-randomeffects estimator as in Moral-Benito (2012); however, its lack of closed-form solutions would preclude us from considering a large set of candidate determinants of current accounts (note that within the BMA setting the number of models to be estimated increases exponentially with the total number of candidate regressors considered).

Under assumptions (A1)-(A2) above we can write the model in (1) as (see e.g. Mundlak, 1978):

$$CA_{it} = w'_{it}\theta + \lambda_i + \epsilon_{it} \tag{2}$$

where $w_{it} = (CA_{it} - \overline{CA}_i, x_{it} - \overline{x}_i, \overline{CA}_i, \overline{x}_i)', \ \lambda_i = \eta_i - \varphi \overline{CA}_i - \delta \overline{x}_i, \ \text{and} \ \theta = (\alpha, \beta, \varphi + \alpha, \delta + \beta).$

¹⁹We consider the means over time in the spirit of Mundlak (1978) instead of the full vector of time-series observations à la Chamberlain to avoid the proliferation of coefficients.

²⁰On the other hand, while this represents a strong assumption in the case of the lagged dependent variable, it is also a concern for the case of the remaining right-hand-side variables; however, the literature typically assumes exogeneity of the potential CA determinants (see e.g. Chinn and Prasad, 2003; Ca'Zorzi et al., 2012a).

Thus, the resulting likelihood function can be written as (see e.g. Arellano, 2003):

$$\log f\left(CA_i|w_i\right) \propto -\frac{N}{2}\log\overline{\sigma}_{\epsilon}^2 - \frac{1}{2\overline{\sigma}_{\epsilon}^2}\sum_{i=1}^N (\overline{CA}_i - \overline{w}_i'\theta)^2 \tag{3}$$

$$-\frac{N(T-1)}{2}\log\sigma_{\epsilon}^{2} - \frac{1}{2\sigma_{\epsilon}^{2}}\sum_{i=1}^{N}(CA_{i}^{*} - \alpha CA_{i(-1)}^{*} - x_{i}^{*}\beta)'(CA_{i}^{*} - \alpha CA_{i(-1)}^{*} - x_{i}^{*}\beta)$$

where $\overline{\sigma}_{\epsilon}^2 = \sigma_{\lambda}^2 + \frac{\sigma_{\epsilon}^2}{T}$. Moreover, CA_i^* , $CA_{i(-1)}^*$ and x_i^* denote orthogonal deviations of CA_i , $CA_{i(-1)}$ and x_i respectively (see Arellano and Bover, 1995).

Note that the log likelihood function in (3) can be decomposed as the sum of the between and within log likelihoods. Therefore, between variation across countries in our sample is exploited for the estimation of the parameters together with within-time variation for a given country as it is the case in the traditional OLS fixed effects estimator. Note also that regressors without time variation can also be embedded in the original x vector.²¹

A.2 Bayesian Model Averaging

Bayesian Model Averaging (BMA) techniques have been developed in the statistical literature to account for the uncertainty inherent in the model selection process, the so-called model uncertainty. For the ease of exposition let us consider a simple regression model where the dependent variable, the current account balance as a share of GDP, y, is regressed on an intercept, α , and candidate regressors chosen from a set of k variables in the design matrix X of dimension $n \times k$. Further, β is defined as the full k-dimensional vector of regression coefficients. Any $n \times k_j$ submatrix of variables in X is denoted by X_j and M_j the model with regressors grouped in X_j , such that

$$y = \alpha + X_j \beta_j + v \tag{4}$$

where the $k_j \times 1$ vector β_j $(0 \le k_j \le k)$ groups regression coefficients corresponding to the submatrix X_j . The exclusion of any given regressor in a particular model implies that the corresponding element in β is zero.

Since BMA allows for any sub-set of variables in X to appear in any model M_j , there are 2^k possible sampling models. BMA specifies that the posterior distribution of the slope coefficients β is the weighted posterior distribution under each of the models, $P(\beta|y, M_j)$, with the weights given by each model's posterior model probability $P(M_j|y)$. The posterior distribution given the data can then be expressed as

²¹In such case, we would have a new vector of regressors $z_{it} = (x_{it}, f_i)'$, and only the time varying regressors would enter the within component of the log likelihood through x_i^* .

$$P(\beta|y) = \sum_{j=1}^{2^{k}} P(\beta|y, M_j) P(M_j|y)$$
(5)

Equation (5) states that the posterior distribution of the quantity of interest is only conditional on the data and not on a particular model. Inference based on the posterior distribution incorporates information across all possible models.

The implementation of BMA is subject to several challenges and the methods and assumptions to overcome these challenges distinguish the various BMA approaches. The most important challenge is the choice of the prior distribution specification, which is always contentious in Bayesian analysis. BMA requires the specification of two types of priors: (a) prior model probabilities and (b) a prior parameter distribution. With respect to the prior model probabilities this paper follows the common practice in the growth literature and assumes a uniform distribution over the model space, which expresses each model as equally likely.²² Under this assumption the posterior model probability simplifies to

$$P(M_j|y) = \frac{f(y|M_j)}{\sum_{i=1}^{2^k} f(y|M_i)}$$
(6)

where $f(y|M_j)$ is the marginal (or integrated) likelihood of model M_j . Thus, the posterior model probability can be viewed as a measure of the relative data fit.

Computation of the marginal likelihood requires the choice of parameter priors. In this paper, the approach of Raftery (1995) is followed, assuming the diffuse Unit Information Prior (UIP) that allows for a simple approximation of the marginal likelihood with the Bayesian Information Criterion (BIC). The BIC approximation is viewed as a conservative fitness measure to evaluate model performance. Eicher et al. (2011) demonstrate that even though the choice of the appropriate prior structure crucially depends on the particular dataset considered, the UIP together with the uniform model prior is generally superior in terms of predictive performance to a range of alternative priors suggested in the literature.²³

²²The uniform prior is a special case of a more general model prior proposed by Mitchell and Beauchamp (1988) in that it assumes the prior probability of the inclusion of a specific regressor is constant across models and equal to 0.5. Sala-i-Martin et al. (2004)'s specification of the Mitchell and Beauchamp model prior favors smaller models. Alternatively, Brock et al. (2003) advocate tree-structured model priors that take into account dependencies among regressors, and Ley and Steel (2009) propose hierarchical model priors in which the probability of inclusion of a specific regressor is treated as random rather than fixed.

²³Another important choice in BMA concerns the selection of a sampling algorithm over the model space. As the number of models increases exponentially with the number of regressors, evaluation of the sum in equation (5) quickly becomes infeasible and sampling algorithms are needed. Fernandez et al. (2001) use the Markov Chain Monte Carlo Model Composition (MC3) sampling algorithm developed by Madigan and York (1995) to search the model space,

Based on these fundamental assumptions and the corresponding equations, BMA allows to compute several important summary statistics of the posterior distribution of the coefficients. For instance, the posterior mean and the posterior standard deviation of a particular coefficient are given by:

$$E(\beta|y) = \sum_{i=1}^{2^{k}} E(\beta|y, M_{i}) P(M_{i}|y)$$
(7)

$$V(\beta|y) = \sum_{i=1}^{2^{k}} P(M_{i}|y) V(\beta|y, M_{i}) + \sum_{i=1}^{2^{k}} P(M_{i}|y) (E(\beta|y, M_{i}) - E(\beta|y))^{2}$$
(8)

In addition, by summing over all models that contain a particular regressor, $P(\beta \neq 0|y)$, the posterior inclusion probability (PIP) of that regressor can be obtained. This statistic provides a probability measure of how important a regressor is to explain the dependent variable.

As suggested by Raftery (1995), the maximum likelihood point estimate (MLE) and variance can be used as the model specific mean $E(\beta|y, M_i)$ and variance $V(\beta|y, M_i)$. This is the particular approach adopted in this paper based on the panel likelihood function described in Appendix A.1. Moreover, Moral-Benito (2012) contains additional discussion on the use of the UIP priors in a panel setting.

while Sala-i-Martin et al. (2004) use a "stratified" Coinflip sampler. MC3 is a technique that allows for sampling of complex high dimensional distributions as it simulates a random walk across the search space to converge at a stationary posterior distribution. Raftery (1995) considers the Leaps-And-Bounds-All-Subsets-Regression-Algorithm of Furnival and Wilson (1974) to reduce the candidate models included in the model space. The Leaps algorithm performs an exhaustive search for the best subsets of candidate variables for predicting the dependent variable in linear regression; it returns a specified number of best models for each model space. All in all, in this paper we follow Fernandez et al. (2001) and use the MC3 algorithm for exploring the model space. Generally, the qualitative differences based on the different samplers are small but not negligible.

BANCO DE ESPAÑA PUBLICATIONS

WORKING PAPERS

- 1301 JAMES COSTAIN and ANTON NAKOV: Logit price dynamics.
- 1302 MIGUEL GARCÍA-POSADA: Insolvency institutions and efficiency: the Spanish case.
- 1303 MIGUEL GARCÍA-POSADA and JUAN S. MORA-SANGUINETTI: Firm size and judicial efficacy: evidence for the new civil procedures in Spain.
- 1304 MAXIMO CAMACHO and GABRIEL PEREZ-QUIROS: Commodity prices and the business cycle in Latin America: living and dying by commodities?
- 1305 CARLOS PÉREZ MONTES: Estimation of regulatory credit risk models.
- 1306 FERNANDO LÓPEZ VICENTE: The effect of foreclosure regulation: evidence for the US mortgage market at state level.
- 1307 ENRIQUE MORAL-BENITO and LUIS SERVEN: Testing weak exogeneity in cointegrated panels.
- 1308 EMMA BERENGUER, RICARDO GIMENO and JUAN M. NAVE: Term structure estimation, liquidity-induced heteroskedasticity and the price of liquidity risk.
- 1309 PABLO HERNÁNDEZ DE COS and ENRIQUE MORAL-BENITO: Fiscal multipliers in turbulent times: the case of Spain.
- 1310 SAMUEL HURTADO: DSGE models and the Lucas critique.
- 1311 HENRIQUE S. BASSO and JAMES COSTAIN: Fiscal delegation in a monetary union with decentralized public spending.
- 1312 MAITE BLÁZQUEZ CUESTA and SANTIAGO BUDRÍA: Does income deprivation affect people's mental well-being?
- 1313 ENRIQUE ALBEROLA, ÁNGEL ESTRADA and DANIEL SANTABÁRBARA: Growth beyond imbalances. Sustainable growth rates and output gap reassessment.
- 1314 CARMEN BROTO and GABRIEL PEREZ-QUIROS: Disentangling contagion among sovereign CDS spreads during the European debt crisis.
- 1315 MIGUEL GARCÍA-POSADA and JUAN S. MORA-SANGUINETTI: Are there alternatives to bankruptcy? A study of small business distress in Spain.
- 1316 ROBERTO RAMOS and ENRIQUE MORAL-BENITO: Agglomeration matters for trade.
- 1317 LAURA HOSPIDO and GEMA ZAMARRO: Retirement patterns of couples in Europe.
- 1318 MAXIMO CAMACHO, GABRIEL PEREZ-QUIROS and PILAR PONCELA: Short-term forecasting for empirical economists. A survey of the recently proposed algorithms.
- 1319 CARLOS PÉREZ MONTES: The impact of interbank and public debt markets on the competition for bank deposits.
- 1320 OLYMPIA BOVER, JOSE MARIA CASADO, SONIA COSTA, PHILIP DU CAJU, YVONNE MCCARTHY, EVA SIERMINSKA, PANAGIOTA TZAMOURANI, ERNESTO VILLANUEVA and TIBOR ZAVADIL: The distribution of debt across euro area countries: the role of Individual characteristics, institutions and credit conditions.
- 1321 BRINDUSA ANGHEL, SARA DE LA RICA and AITOR LACUESTA: Employment polarisation in Spain over the course of the 1997-2012 cycle.
- 1322 RODOLFO G. CAMPOS and ILIANA REGGIO: Measurement error in imputation procedures.
- 1323 PABLO BURRIEL and MARÍA ISABEL GARCÍA-BELMONTE: Meeting our D€STINY. A Disaggregated €uro area Short Term Indicator model to forecast GDP (Y) growth.
- 1401 TERESA SASTRE and FRANCESCA VIANI: Countries' safety and competitiveness, and the estimation of current account misalignments.
- 1402 FERNANDO BRONER, ALBERTO MARTIN, AITOR ERCE and JAUME VENTURA: Sovereign debt markets in turbulent times: creditor discrimination and crowding-out effects.
- 1403 JAVIER J. PÉREZ and ROCÍO PRIETO: The structure of sub-national public debt: liquidity vs credit risks.
- 1404 BING XU, ADRIAN VAN RIXTEL and MICHIEL VAN LEUVENSTEIJN: Measuring bank competition in China: a comparison of new versus conventional approaches applied to loan markets.
- 1405 MIGUEL GARCÍA-POSADA and JUAN S. MORA-SANGUINETTI: Entrepreneurship and enforcement institutions: disaggregated evidence for Spain.
- 1406 MARIYA HAKE, FERNANDO LÓPEZ-VICENTE and LUIS MOLINA: Do the drivers of loan dollarisation differ between CESEE and Latin America? A meta-analysis.
- 1407 JOSÉ MANUEL MONTERO and ALBERTO URTASUN: Price-cost mark-ups in the Spanish economy: a microeconomic perspective.
- 1408 FRANCISCO DE CASTRO, FRANCISCO MARTÍ, ANTONIO MONTESINOS, JAVIER J. PÉREZ and A. JESÚS SÁNCHEZ-FUENTES: Fiscal policies in Spain: main stylised facts revisited.

- 1409 MARÍA J. NIETO: Third-country relations in the Directive establishing a framework for the recovery and resolution of credit institutions.
- 1410 ÓSCAR ARCE and SERGIO MAYORDOMO: Short-sale constraints and financial stability: evidence from the Spanish market.
- 1411 RODOLFO G. CAMPOS and ILIANA REGGIO: Consumption in the shadow of unemployment.
- 1412 PAUL EHLING and DAVID HAUSHALTER: When does cash matter? Evidence for private firms.
- 1413 PAUL EHLING and CHRISTIAN HEYERDAHL-LARSEN: Correlations.
- 1414 IRINA BALTEANU and AITOR ERCE: Banking crises and sovereign defaults in emerging markets: exploring the links.
- 1415 ÁNGEL ESTRADA, DANIEL GARROTE, EVA VALDEOLIVAS and JAVIER VALLÉS: Household debt and uncertainty: private consumption after the Great Recession.
- 1416 DIEGO J. PEDREGAL, JAVIER J. PÉREZ and A. JESÚS SÁNCHEZ-FUENTES: A toolkit to strengthen government budget surveillance.
- 1417 J. IGNACIO CONDE-RUIZ, and CLARA I. GONZÁLEZ: From Bismarck to Beveridge: the other pension reform in Spain.
- 1418 PABLO HERNÁNDEZ DE COS, GERRIT B. KOESTER, ENRIQUE MORAL-BENITO and CHRISTIANE NICKEL: Signalling fiscal stress in the euro area: a country-specific early warning system.
- 1419 MIGUEL ALMUNIA and DAVID LÓPEZ-RODRÍGUEZ: Heterogeneous responses to effective tax enforcement: evidence from Spanish firms.
- 1420 ALFONSO R. SÁNCHEZ: The automatic adjustment of pension expenditures in Spain: an evaluation of the 2013 pension reform.
- 1421 JAVIER ANDRÉS, ÓSCAR ARCE and CARLOS THOMAS: Structural reforms in a debt overhang.
- 1422 LAURA HOSPIDO and ENRIQUE MORAL-BENITO: The public sector wage premium in Spain: evidence from longitudinal administrative data.
- 1423 MARÍA DOLORES GADEA-RIVAS, ANA GÓMEZ-LOSCOS and GABRIEL PÉREZ-QUIRÓS: The Two Greatest. Great Recession vs. Great Moderation.
- 1424 ENRIQUE MORAL-BENITO and OLIVER ROEHN: The impact of financial (de)regulation on current account balances.

BANCO DE ESPAÑA

Eurosistema